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#include<stdio.h>

voidtest()

{

intt;

scanf("%d",&t);
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}

voidmain()

{

intm;

test();

printf("m=%d",m);

}
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#include<stdio.h>
void test()

{

int t;
scanf("%d",&t);
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_asm

{

mov esi,t

pop edi

mov [edi-4],esi
push edi

}

}

void main()

{

int m;

test();
printf("m=%d",m);
}
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#include<stdio.h>

void test()

{
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/fpush  ebp

/mov  ebp,esp

/sub  esp,48h

//push ebx
//push esi
//push edi

/lea edi,[ebp-48h]
/mov  ecx,12h
/mov  eax,0CCCCCCCCh
//rep stos dword ptr [edi]
/T T 0x12*sizeof(DWORD)AN i & 1Al
/7 RN R ebp-4
int t
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Mpush — edi(main)...........ccccccvveuvenenn. Ox1

/push — esi(main).............ccceceeveueen... 0x2

/Mpush — ebx(main).............ccccvevueennn.. 0x3

/Mpush — €bP(E)...cccveceeeeeesrsenne 0x4
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//0x10%sizeof(DWORD)HIZE [8].....coveeeeeerrieenn 0x15
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int main()
{
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/ push  ebp
/  mov  ebpesp
/ sub esp,44h
/  push ebx
/  push esi
/  push edi
/ lea edi,[ebp-44h]
/ mov  ecx,11h
/  mov  eax,0CCCCCCCCh
/  rep stos dword ptr [edi]
/T T 0x11*sizeof(DWORD)AN i & 18]
/7 miAEE bR ebp-4
int m;
test();
printf("m=%d",m);
retun 0O;

}
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